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Halloween Addition

Solve the following word problems.

Jack has 3 halloween candies. His friend gave him
2 more. How many candies does Jack have now?

Sally has 4 halloween pumpkins. She bought 5
more. How many pumpkins does Sally have now?

Tom found 2 halloween masks. He found 3 more
later. How many masks does Tom have now?

There are 2 zombies and 4 mummies in a
halloween movie. How many characters are there
in total?

Ron has 4 lanterns. He gets 3 more. How many
lanterns does Ron have now?

Mia has 6 juice bottles. She gets 2 more. How many
juice bottles does Mia have now?

There are 5 witches and 4 ghosts in the halloween
story. How many characters are there in total?

There are 3 black cats and 4 white cats in a
halloween party. How many cats are there in total?

A spider has 4 webs. It spun 1 more web. How
many webs does the spider have now?

10 Mary baked 6 halloween cookies. She baked 4
“\ ) more. How many cookies does she have now?
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